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ol A< A REA| A 0] 4= 25,571 195,693 13.6| 142 & 55 21,59 1.5
o] A A7 gl Y -12,429 1,121,268 78.1| P A/ AR S 4 -5,570 474,851 33.1
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HF A4 | 714
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_ Oﬂ}\ on Oﬂ/\]—ou H] E—’é‘% }1\_]:'57]_12—('51) =] 1A
F 25| e Bl
1.0l 1,321,006| 1,307,864 13,142
1. A AR A o] A=) 195,693 170,122 25,571
1L.HPHA o] H9) 114,108 90,321 23,787
1. 7] 2 AGAA A D G = 114,108 90,321 23,787
1. 3N (7] Z) 114,108 90,321 23,787 (A HA_5F)FAR T & 23,787,0009%13]= 23,787,000
2. WA HEF 81,585 79,801 1,784
1.7 2 A GAA A D G = 81,585 79,801 1,784
R R LR UEEI OS] 81,585 79,801 1,784 EARGEAE} 1 -823,0009x13]= -823,000
EFPdRET ¢ -13,000913]= -13,000
(APASF) (M) BFe 5D T2 31 )
: 35,0009 %27 16X 7}= 1,120,000
(A HA_55)20220 = -5 LA T A-HA 4]
1
1,500,0009#18l= »500,000
2. A a7 7] 3o A 1,121,268 1,133,697 -12,429
1. 0 SH| S A AN 5 1,121,268| 1,133,697 -12,429
1. SR SEI A A+ 1,121,268| 1,133,697| -12,429
1.8t u| [ )+ 420,450| 420,450 0
(AHASF)FALTA &9 T2 (@as)
LA AL H o]= —
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Al A] _‘\:_LH:F}- —y; _— _z‘;_
A EgEH(RE) 1 29,036,000 * 99,036,000
Fxeud ST ALE) .
2,825,000 * 1l = 2,825,000
(AHAS5F) DT FAL A48 (2 5)
4,224 0009 * 13l = 4,224,000
WEFEAYD AN (2E) : -3,840,
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s . A - -792,0009] * 13 = -792,000
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3,761,000 * 11l = 3,761,000
(APAS5F) 2N EFUSAZARIAN] ¢
4,285,0009] * 1l = 4,285,000
£odH] @ -14,0009 * 13 = -14,000
WA 0 -1,401,0009 13 = -1,401,000
S7HAH] 1 -384,0009 * 13 = -384,000
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2] =)l ER S A WEA BT
SAIE6OX(4) (E)’OO)G *ﬂ;ﬂo :L% L5 A 2SR 1,600,000
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géj;’iff)%}il 5F8.91R1%10] 1 2,054,000 9. 054,000
ARSI EF- 2 1Q1AN] ¢ ~71,0009 * 13 = -71,000
2] o = 137
éAE,;;:)ogT):m :l AHA R ZA]) Q17 H] 5.538.000
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3. 71ebe] A4l 4,045 4,045 0
1.3 3] A7kl ) 1,055 1,055 0
LoEsus|A-dg= 1,055 1,055 0
lLuestus|Adds 1,055 1,055 0
2. 71eR gl e 2,990 2,990 0
L7lelaA L= 2,990 2,990 0
17EFE XY 2,990 2,990 0
2. 24159 106,148|  146,773| 40,625
LS R 103,089|  142,813|  -39,724
LA 103,089|  142,813|  -39,724
152 36,945 37,200 -255
15400 36,945 37,200 -255| WA Q4] 1 -255,000913]= -255, 000
2.2 0 0 0
2. e s 25,167 30,595 5,428
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FIF7ERE 1 -946,0009#13]= -946,000
AFEFEER 0 -262,0009%13]= -262,000
T8 1 35,00090+13)= 35,000
Wl AE g 1 -841,0009013])= -841,000
FARIAEA R ¢ 122,0009+13]= 122,000
Folne7 g 1 -57,0009#13)= 57,000
SAAN] 1 -166,0000*13]= -166,000
FA)aAE] ¢ -1,715,0009#18]= 1,715,000
AFEHAA : -570,0009+138]= -570,000
FArA A ¢ -196,0009#13]= -196,000
FH DI TG 7HA] 1 -929,0009+135]= -929,000
3. @gA A5 786 786 0
1.8 AdskE1] 786 786 0
4. &9 A 4,218 4,218 0
1. &R 4,218 4,218 0
5. 7|efr AR gy 0 0 0
1. 71E ol A E4s) 0 0 0
6.5 -dv 27,321 58,224  -30,903
1. 5580 27,321 58,224  =30,903| o4 & : -30,903,000*13]= -30,903,000
7. ERE TGN 8,652 11,790 -3,138
1.E78E9n 8,652 11,790 -3,138| 2529 7H4 1 -718,000013)= ~718,000
E8E5 T34 1 -2,420,0009+13)= -2,420,000
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4. 77185 3,226 3,226 0

4 [Z]1FAA TG 234,715| 240,219 5,504
L84 A 5] 234,715 240,219| 5,504 ﬁi%gmzﬂﬁ PGS 29,036,009 29,036,000
(ﬁfﬂ;ﬁ%)%ﬂzﬂﬁﬂl(m : 23,787,000 23.787.000
FHAANZ(F) 1 -255,0009%13]= -255,000

5. [Z17IEFeta A2 10,390 10,575 -185
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2. 71 A A AR A R 3,746 3,746 0

3.7 A FH A1 7] 26,747 26,747 0

8. [z AT AN 84,012 84,012 0
LA A R 35 300 2 (i%’mmiﬂgi 4R ¢ 25,0008l 25,000

2. 712 A2 h1718] 2,100 2,100 0

3. F7 AR AR R 9,910 9,910 0
4. 57 A2k 171 71,677 71,702 =25 (s, ADEAAY ¢ -25,00090%13]= -25,000

2. BT 52,540 54,265 -1,725

1. [ st El w1 B Ak 7] 43,121 43,997 -876
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1. 0 -ogn)| 2,000 2,000 0
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3.xI(E)EIEEA 4 15,640 16,156 -516
17174 A 2170w 15,640 16,156 -516| Wrel&selAn] ¢ -516,0009%13)= -516,000
4. [Z](F)ANEFAAATE 6,530 6,530 0
1. 058gn) 6,530 6,530 0
5. [z Es 3,756 3,756 0
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1.3 A 1,549 1,549 0
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2.+957% 3,400 3,400 0
2. 38549 4,503 4,503 0
1. [Z=]EdARAIZ 4,503 4,503 0
1. gRkF8H| 285 285 0
2. A EA]H] 4,218 4,218 0
3.71%4 ages 190,898| 177,118 13,780
103} 2 175,802| 159,230 16,572
1. g-s2 9 18,645 17,784 861
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1. 058gn) 0 0 0
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2. [Z]7) %A% 1,120 0 1,120
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1. [Z]9 ol w99 1,200 1,200 0
1. 058gn) 1,200 1,200 0
2. [Z] = A7ARRIZH] 41,103 34,777 6,326

LRAIA 9 AR e 3,873 2,860 1,013 if_ﬁéfﬁ)(ﬁ?)mi@ ' 308,000+1% 308,000

Eg*i 1%1;%5%)(1?)4&11@ : 705,0009)1 705,000
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(O_H 53)(WE)E AT ¢ 222,000%17 299,000
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5. 5 FuSuy s 60,582 52,536 8,046
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o] 25,261 21,500 3,761
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(B2 SESu A EA0]
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1. 058 n 5,948 5,948 0
5. [2]1E5FFEIAY 2,588 2,588 0
1. 3902-¢-93n) 1,030 1,030 0
2. HFEF-9H] 995 995 0
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